

Integration by Method of
Algebraic, integrand =

Algebraic standard
integral :-

Form : $\int \frac{dx}{\sqrt{ax+b} \cdot \sqrt{cx+d}}$

Problem

(1)

$$\int \frac{dx}{\sqrt{5-3x} \cdot \sqrt{4-3x}}$$

$$= \int \frac{\sqrt{5-3x} - \sqrt{4-3x}}{5-3x - 4-3x} dx$$

$$= \int (5-3x)^{\frac{1}{2}} dx - \int (4-3x)^{\frac{1}{2}} dx$$

$$\text{using } \int (ax+b)^n dx = \frac{(ax+b)^{n+1}}{a(n+1)}$$

$$= \frac{(5-3x)^{\frac{1}{2}+1}}{(\frac{1}{2}+1)(-3)} - \frac{(4-3x)^{\frac{1}{2}+1}}{(\frac{1}{2}+1)(-3)}$$

$$= -\frac{2}{3} \cdot \frac{(5-3x)^{3/2}}{3} + \frac{2}{3} \cdot \frac{(4-3x)^{3/2}}{3}$$

$$= -\frac{2}{9} [5-3x]^{3/2} + \frac{2}{9} [4-3x]^{3/2} + C$$

Form : $\int f(x) [g(x)]^n dx$ When $g(x)$ is in standard form.

Method $\rightarrow$ Say

$$f(x) = A g(x) + B$$

$$\therefore f(x) [g(x)]^n = [A g(x) + B] [g(x)]^n$$

$$= A [g(x)]^{n+1} + B [g(x)]^n$$

$$\therefore \int f(x) [g(x)]^n dx = A \int [g(x)]^{n+1} dx + B \int [g(x)]^n dx$$

for values of A and B

$$f(x) = A g(x) + B$$

put $x=0$ and $x=1$ and

then solve for A and B

Ex: $\rightarrow \int (x+2) \sqrt{x-3} dx$

solution here $\rightarrow f(x) = x+2$ $[g(x)] = [x-3]^{\frac{1}{2}}$

put $f(x) = A g(x) + B$ — (1)

$$\therefore (x+2)(x-3)^{\frac{1}{2}} = [A(x-3) + B](x-3)^{\frac{1}{2}}$$

$$= A(x-3)^{\frac{3}{2}} + B(x-3)^{\frac{1}{2}}$$

$$\therefore \int (x+2)(x-3)^{\frac{1}{2}} dx = A \int (x-3)^{\frac{3}{2}} dx + B \int (x-3)^{\frac{1}{2}} dx$$

using $\int (ax+b)^n dx = \frac{(ax+b)^{n+1}}{a(n+1)}$

$$= \frac{2A}{5} (x-3)^{\frac{5}{2}} + \frac{2B}{3} (x-3)^{\frac{3}{2}} + C$$

$$= 2(x-3)^{\frac{3}{2}} \left[\frac{A}{5} (x-3) + \frac{1}{3} B \right] + C \text{ — (2)}$$

for A and B

put $x=0$ and $x=1$ successively in (1)

$$f(0) = A g(0) + B$$

$$f(1) = A g(1) + B$$

$$\therefore f(1) - f(0) = A [g(1) - g(0)]$$

$$\therefore A = \frac{f(1) - f(0)}{g(1) - g(0)}$$

$$= \frac{3 - 2}{-2 + 3} = 1$$

Here $f(x) = x+2$

$$\Rightarrow f(0) = 2$$

$$f(1) = 3$$

$$g(x) = x-3$$

$$g(0) = -3$$

$$g(1) = -2$$

$$\therefore B = 2 - A g(0) = 2 - 1(-3) = 5$$

From (1)

$$\int (x+3) \sqrt{x+2} \, dx$$

$$= \frac{2}{5} (x+3)^{5/2} \left[\frac{x-2}{5} + \frac{5}{2} \right] + C$$

$$= \frac{2}{5} (x+3)^{5/2} [2x-4+25] + C$$

$$= \frac{2}{5} (x+3)^{5/2} (2x+16) + C$$

Trigonometric Transformation

Sine and Cosine Integral

$$\int \sin x \, dx = -\cos x, \int \cos x \, dx = \sin x, \int \sin x \cos x \, dx = \frac{1}{2} \sin 2x$$

$$\int \sec x \tan x \, dx = \sec x, \int \tan x \, dx = \ln |\sec x|$$

$$\int \sec^2 x \, dx = \tan x$$

$$1. \int \cos^2 x \, dx \quad \because \cos^2 x = \frac{1}{2} (\cos 2x + 1)$$

$$\begin{aligned} \text{Solution} - I &= \int \cos^2 x \, dx \\ &= \frac{1}{2} \int (1 + \cos 2x) \, dx \\ &= \frac{1}{2} \left[x + \frac{\sin 2x}{2} \right] \\ &= \frac{x}{2} + \frac{\sin 2x}{4} + C \end{aligned}$$

$$2. I = \int \sin^2 x \cos^2 x \, dx$$

$$= \int \frac{1}{\sin^2 x \cos^2 x} \, dx$$

$$= \int \frac{1}{\frac{1}{4} \sin^2 2x} \, dx$$

$$= \frac{4}{1} \int \sec^2 2x \, dx = \frac{4 \tan 2x}{2} + C = 2 \tan 2x + C$$

$$\because \sin^2 x \cos^2 x = \frac{1}{4} \sin^2 2x$$

$$\therefore \sin^2 x \cos^2 x = \frac{1}{4} \sin^2 2x$$

Integrale

$$\int \cos x \cos 2x \cos 3x dx$$

use $\cos A \cos B$

$$= \frac{1}{2} [\cos(A+B) + \cos(A-B)]$$

$$= \int [\cos 2x \cos x] \cos 3x dx$$

$$= \frac{1}{2} \int [\cos 3x + \cos x] \cos 3x dx$$

$$= \frac{1}{2} \int [\cos^2 3x + \cos 3x \cos x] dx$$

$$= \frac{1}{2} \int \left[\frac{1 + \cos 6x}{2} + \frac{1}{2} (\cos 4x + \cos 2x) \right] dx$$

$$= \frac{1}{4} \int [1 + \cos 6x + \cos 4x + \cos 2x] dx$$

use $\int dx = x$
 $\int \cos kx = \frac{\sin kx}{k}$

$$= \frac{1}{4} \left[x + \frac{\sin 6x}{6} + \frac{\sin 4x}{4} + \frac{\sin 2x}{2} \right] + C$$

$$(iii) \int \frac{\sin(x-y)}{\sin(x+y)} dx$$

$$x-y = x+y-2y$$

$$\sin(x-y) = \sin(x+y-2y)$$

$$= \sin(x+y)\cos 2y - \cos(x+y)\sin 2y$$

$$\therefore \frac{\sin(x-y)}{\sin(x+y)} = \cos 2y - \cot(x+y) \sin 2y$$

$$\therefore I = \int \frac{\sin(x-y)}{\sin(x+y)} dx$$

$$= \int [\cos 2y - \cot(x+y) \sin 2y] dy$$

$$= \cancel{\sin} \cos 2y \cdot x - \sin 2y \log \sin(x+y) + C$$

Evaluate $I = \int \frac{\cos(x+a)}{\sin(x+b)} dx$

$$\therefore x+a = (x+b) + (a-b)$$

$$\therefore \cos(x+a) = \cos\{(x+b) + (a-b)\}$$

$$= \cos(x+b)\cos(a-b) - \sin(x+b)\sin(a-b)$$

$$\text{Now } \frac{\cos(x+a)}{\sin(x+b)} = \frac{\cos(x+b)\cos(a-b) - \sin(x+b)\sin(a-b)}{\sin(x+b)}$$

$$= \cos(a-b) \cot(x+b) - \sin(a-b)$$

$$\therefore I = \int \frac{\cos(x+a)}{\sin(x+b)} dx = \cos(a-b) \int \cot(x+b) dx - \sin(a-b) \int dx$$

$$= \cos(a-b) \log \sin(x+b) - \sin(a-b) \cdot x$$

$$+ C$$

use: $\int \cot(ax+b) dx = \frac{1}{a} \log \sin(ax+b)$

Evaluate $\int \tan^{-1} \sqrt{\frac{1-\sin x}{1+\sin x}} dx$

$$I = \int \tan^{-1} \sqrt{\frac{1-\sin x}{1+\sin x}} dx \quad \left\{ \begin{array}{l} \text{Since } \sin x = \cos(\frac{\pi}{2} - x) \\ \sin x = \sin(\frac{\pi}{2} - (x/2 + \frac{\pi}{2})) \\ \Rightarrow \sin x = -\cos(x/2 + \frac{\pi}{2}) \end{array} \right.$$

$$= \int \tan^{-1} \sqrt{\frac{1 + \cos(x/2 + \frac{\pi}{2})}{1 - \cos(x/2 + \frac{\pi}{2})}} dx \quad \left\{ \begin{array}{l} \sqrt{\frac{1+\cos \theta}{1-\cos \theta}} = \sqrt{\frac{2\cos^2(\theta/2)}{2\sin^2(\theta/2)}} \\ \sqrt{\frac{1+\cos \theta}{1-\cos \theta}} = \left| \cot \frac{\theta}{2} \right| \end{array} \right.$$

$$= \int \tan^{-1} \left[\tan \left(\frac{\pi/2 + \frac{\pi}{2}}{2} - \frac{x}{2} \right) \right] dx \quad \left\{ \begin{array}{l} \frac{\sin \theta}{\cos \theta} = \tan \theta \\ \frac{\cos \theta}{\sin \theta} = \cot \theta \end{array} \right.$$

$$= \int \left[\frac{\pi}{4} - \frac{x}{2} \right] dx$$

$$= \frac{\pi}{4} \cdot x - \frac{x^2}{4} + C$$

$$= \frac{\pi}{4} x - \frac{x^2}{4} + C$$

$\frac{\sin \theta}{\cos \theta} = \tan \theta$
 $\frac{\cos \theta}{\sin \theta} = \cot \theta$
 $\tan^{-1}(\cot x) = x$
 $\cot \theta = \tan(\frac{\pi}{2} - \theta)$
 $\tan^{-1}(\tan x) = x$
 $-\frac{\pi}{2} < x < \frac{\pi}{2}$

Evaluate $I = \int \ln^{-1} (\sec x + \tan x) dx$

$$= \int \ln^{-1} \left(\frac{1+\sin x}{\cos x} \right) dx$$

$$= \int \ln^{-1} \left(\frac{(\cos x + \sin x/2)^2}{\cos^2 x/2 - \sin^2 x/2} \right) dx$$

$$= \int \ln^{-1} \left(\frac{\cos x/2 + \sin x/2}{\cos x/2 - \sin x/2} \right) dx$$

$$= \int \ln^{-1} \left(\tan \left(\frac{\pi}{4} - \frac{x}{2} \right) \right) dx = \int \ln^{-1} \left(\tan \left(\frac{\pi}{4} - \frac{x}{2} \right) \right) dx = \int \ln^{-1} \left(\tan \left(\frac{\pi}{4} - \frac{x}{2} \right) \right) dx$$